Al

20
B
2

|et= 2 315,881 333,703
T g=2 2 28 2 dsHP 291,175 309,325
FEDIDIBHAIE X & 108,890 143,890
S| YA 76,220 111,221
201 et=gl 43,170 71,310
01 AtR2telH] 38,080 65,370
olger=gtl] 31,370
O & AFXIMIZ 93,750& * 243 2,250
OSJIME AXNEAI 100,000& = 93 900
O&0IotY 2,000& = 2,7000H 5,400
OLsURX-Y 10,000& * 4504 4,500
OXTU(EEE) 50,000& * 45¢H 2,250
onlog PA(LHEE) 15,000& * 2705 4,050
OS0I&A FU(EES) 4,500,0008 * 14 4,500
Okl EItERL == 180,000& = 32 540
OJMEIIE 20 HE ===
162,000,000& = 3/100 4,860
OHHSSE =8 406,400 * 3A 1,220
OHitHg &= 5,000& = 1802l 900
Ol=&tl] 2,700
OJAIMOtaE =&
6,957& = 401 ~ g7 2,700
olgxz] 2,700
OHE+Y FBIYX= 2,700
oX3gel(2m) 450,000 * 104 » 2 900
08X (15€) 450,000 * 20H » 2 1,800
Of[Ei el AIAE SXl2tel] 860
OAAE X2 71,6608 » 128 860
OlEM7eHl] 450
OEXlZe A+ 50,000& * 9& 450
02 33234l 5,090 5,940
O[AM&ZEEl 2Xl] 5,090
odJl=dl =2 100,000& = 9UH 900
OJI0t= Xl &2l 1,710
o JtA DOt 284,700& * 204 570
A0 285,000 * 43 1,140
OJIAA sXi2c 144,000& = 105 1,440
OJiit s EEA4E 7Y 10,000& = 18kg 180
OHHEH =X 2l 86,000& * 105 860
202 O 2,700 2,700
01 =LHOHI 2,700 2,700
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MH Hoc)| B2 2N BA Y HaeT
Chelr AT IBIAIE XA (ctel: &
S HE - S(EH) - NRAY - BES sk oy S 2
0f 4 o
Ol=uUodbl] 2,700
OZJ|MATIE AHGHI
50,000& * 183 3¢l 2,700
206 M=l 30,350 30,361 A1
01 M=H| 30,350 30,361 A1
O[Mzl] 30,350
OAdZE LPGPY  3,800% » 468.724 = 8& 14,250
ONAANE HE 7 11,880
o0 IAEHD| 900,000& * 24 1,800
022 UWS 90,000& * 24 180
o2l 4 oIH 225,000& = 2J4 450
TSI 135,000& = 20K 270
o T 180,000 = 20K 360
o 2= A0l 270,000 * 2K 540
0 WE(3F) 68,5202 * 26% 170
o EHE 30,000& * 9JH 270
ogE 25,500& * 9= 230
oRE 32,000& * 504 160
odsHZ 44,0003 * 54 220
omAM= L 6,000& = 500kg 3,000
oY 90,000& * 2MIE 180
OAZLRAZS Y 45,000& * 10¢t 450
o At XI=(58) 2,000 * 45004 900
o A EH(DFADIOF, & ZFDII0}H)
30,000 » 53 = 184 2,700
osts(AL=R) 7 61,6503 * 18&= 1,110
OZJ ME&+ ¢ 20,0004 * 274 540
oAx&s3+ +¢ 90,000& * 6& * 13 540
OEE(ZJI2g) ¢ 50,000& * 36& 1,800
O3% | HIE+1Y 46,000% » 53 230
AT HAIESR 32,670 32,669 1
201 Let2g| 16,720 16,719 1
02 &=l 1,670 1,666 4
Ol=322 ¢ HAI 1,670
o201 J|&8ld fE= &SM 1,670
o 2Ly 300& = 2,7000H 810
o &2l (S71) 2,000& = 4300H 860
03 A2 ZHI 15,050 15,053 A3
O20114 D=l N 15,050
O E4HH HI 20,000& * 272 » 13l 540
OFANEE 10,000& * S000H » 13 9,000
OR=Fs 6503 * 430.504 = 23l 560
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SH-EH . C(BH) - NRAY - BES Off &k gggi; bRz
SELES 1,00020 * 90004 * 13] 900
OB 10,0002 + 90K * 13| 900
oumY 180,008 * 1404 * 13| 2,520
R 70,0002 * 9HA * 1] 630
202 048] 1,800 1,800 0
01 2Uhoitl 1,800 1,800 0
O[2UoibI] 1,800
OFAIRIR ZAGIHI 50,0008 = 95| * 49l 1,800
206 W2l 900 900 0
01 T2l 900 900 0
SIVELTN 900
oREBEM %ERY 10,0008 * 90H 900
01 LR A 13,250 13,250 0
08 2I¥ %01t 8,750 8,750 0
02011 JI&I® 2/l =8 0fy| 8,750
O =gt 100,009 * 2791 * 1 * 13l 2,700
o4 bl 10,0002 * 5021 * 541 * 1] 2,950
OREY| 10,0008 * 3121 * 15| 3,100
10 BAAEI B4 S 4,500 4,500 0
SLEIES-PIEEY 4,500
O2011EE JISH BAMH B4
90,0002 * 2591 * 23l 4,500
SIISET L BHIAR 2Y 182,285 165,435 16,850
TOHRHADZ 29 14,700 20,793 6,093
201 YBr2 ) 2,700 7.128 A4,428
01 At 2,700 2,700 0
Olger+gt] 2,700
OZOUI™AIZ FAHIS 675,002 * 43l 2,700
307 QI2H0|H 12,000 12,000 0
02 SItYMBE 12,000 12,000 0
OIBUEAD 2] 2,000
OBUIFAIR P2
1,000,0008 * 128 12,000
ESIEERTEY 167,585 144,642 22,943
101 124yl 63,545 62,695 850
04 JIAHZ2RESS 63,545 62,695 850
ODIZHZERSE24] 63,545
OZel2Y 2I=Y 34,6102 * 121 + 1902 6,576
OMEXOILY 34,6109 * 221 * 802 5,538
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